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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2013 

MEC-008 : ECONOMICS OF SOCIAL SECTOR 
AND ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from both sections as per instructions. 

SECTION-A 

Answer any two questions from this section in 

about 500 words each. 	 2x20=40  

1. Bring out the rationale for 'regulation'. Explain 

the situations under which government 

intervention is necessary. 

2. What is coordination failure in common property 

resource management ? Explain with example. 

3. In the traditional system of national accounts, 

what modifications are required to account for 

environmental changes ? 

4. Explain the issue of health insurance and its 

interaction with medical market with an 

illustration. 
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SECTION - B 

Answer any five questions from this section in 

about 250 words each : 	 5x12=60  

5. What are the implications of functional 

distribution of income for poverty ? 

6. Do you think that the distribution of income in a 

country would indicate the use of its natural 

resources. 

7. Does the presence of pecuniary externalities cause 

a market failure? Explain. 

8. What according to Douglas North are the crucial 

determinants of the efficiency of markets? 

9. What is meant by 'total economic value of 

environment' ? 

10. Explain how cooperation is possible in a non-

cooperative game theory. 

11. Explain the determinants of 'social demand for 

education'. 

12. In the context of healthcare services, what policy 

initiatives are normally employed to increase the 

contestability of participants in a market? 
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